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QUESTION 1

The Merge Files facility is located under whichmenu? 

A. View 

B. Transform 

C. Analyze 

D. Data 

Correct Answer: D 

 

QUESTION 2

Consider the data filebelow and answer the following: The calculation of the mean of the variables X, Y, Z is contained
in the variable Av_XYZ. What method was used to calculate the mean? 

A. The Compute Variable dialog and the expression (X+Y+Z) 13 

B. The Compute Variabledialog and the expression X+Y+Z/3 

C. The Compute Variable dialog and the expression MEAN(X, Y, Z) 

D. The Compute Variable dialog and the expression MEAN.2(X, Y, Z) 

Correct Answer: D 
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QUESTION 3

If you request an aggregated dataset or data file in the Aggregate procedure, the number of cases in the new
aggregated file is equal to what? 

A. Number of cases in the original data file 

B. Number of aggregated summary variables 

C. Number of categories of the variables specified in the Break Variables list 

D. Numberof cases that you specified in the Aggregate Data dialog box 

Correct Answer: C 

 

QUESTION 4

Which statement is the correct interpretation of this crosstab table? 

A. 56.5% of females believe in life after death. 

B. 86.0% of females believe in life after death. 

C. 27.5% of females believe in life after death. 

D. 53.7% of females believe in life after death. 

Correct Answer: B 
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QUESTION 5

Suppose you want to get help on the Cumulative Percent column in a FREQUENCIES table. Using the figure below,
how would you do it? 

A. Go to Help ... Topics and search for Cumulative Percent. 

B. Go to Help ... Command Syntax Reference and search for Cumulative Percent. 

C. Go to Help ... About. 

D. Double-click the table, right-click Cumulative Percent and select What\\'s this? from the pop-up menu. 

Correct Answer: D 
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